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Answer the following question directed

1. Gaddi Pastoral Nomads belongs to which place
(a) Kulu (b) Punjab
(c) Kashmir (d) Gujarat

2. Name the tribal group belongs to Chota Nagpur region
(a) Khondas (b) Bells
(c) Munda (d) Banjara

3. Shifting cultivation is also known as
(a) Permanent Agriculture (b) Jhum Cultivation
(c) Nij Cultivation (d) None of the above

4. British described the tribal people as
(a) Settled & Civilized (b)
(c) Wild and Savage (d)

(a) Karnataka
(c) Sikkim

Nomadic
None of the above

5.

6.

The horizontal plates of wood on which railway lines are laid is called as
(a) Fallow (b) Sleeper
(c) Blocks (d) None of the above

ln which state tribals were recruited to work in Tea plantations

7.

B.

ln which year Songram Sangama revolt broke out in Assam
(a) 1901
(c) 1900

(b) Assam
(d) Bihar

(b) 1e10
(d) 1e06

Who were "Ravanas" according to Birsa?
(a) Europeans (b) Tribals
(c) Zamindars (d) None of the above

9. ln which year Birsa Munda was arrested by the British
(a) 1880 (b) 188e
(c) 18e0 (d) 1895

Name the tribal groups who reared cocoons10.
(a) Khonds
(c) Santhals

(b) Bhils
(d) None of the above

11. Banjara tribal groups settled in which state
(a) Orissa (b) Maharashtra
(c) Gujarat (d) Kerala
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12. The local weavers and leather workers turned to --:- for supplies of Kusum
and Palash flowers to

(a) Santhals
(c) Khonds

13. ln which year Bahadur Shah Zafar died in Rangoon jail

14.

15. Subsidiary alliance was imposed on Awadh in

(a) 1890
(c) 1895

Bakht Khan was a solider from
(a) Meerut
(c) Bareily

(a) Bareilly
(c) Kanpur

(a) Mir jafar
(c) Mir Kasim

(a) 1765
(c) 1763

(b) Mundas
(d) None of the above

(b) 1861
(d) 1862

(b) Agra
(d) Delhi

(b) 1800
(d) Lucknow

(b) 16s1
(d) 1655

(b) Awadh
(d) None of the above

(b) 1757
(d) 1768

(b) Sirajuddaulah
(d) None of the above

16, The first factory was set up in the year
(a) 1600
(c) 1665

Haidar Aliwas the ruler of
(a) Mysore
(c) Bengal

Battle of Buxar ended in
(a) 1764
(c) 1761

17.

18.

19.

20.

Who became Nawab of Bengal after the battle of Plassey?

21. Growers of woad in Europe saw ------ crop as competition to their trade

The Chamaparan movement was against
(a) lndigo planters
(c) Peasants

(a) Rubber
(c) Coffee

(a) Woad
(c) Blue colour

(b) Dutch
(d) None of the above

(b) Tea
(d) lndigo

(b) Synthetic dyes
(d) None of the above

22. The international demand of indigo was affected by the discovery of

23. The company was appointed as the Diwan of Bengal in
(b) 1762
(d) 1764



James Mill divided lndian History in to
(a) 3 periods
(c) 5 periods

(b)
(d)

L

2 periods
None of the above

-
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1) Which one of the following is nofcnaracteristic of minerals?

(a) They are created by natural processes. (b) They have a definite chemical composition.

(c) They are inexhaustible. (d) Their distribution is uneven.

2) Which one of the following is a natural fibre?

(a) Nylon (b) Jute (c) Acrytic (d) None

3) Which are three main factors that cause population change?

(a) Births, deaths and marriage (b) Births, deaths and migration

(c) Births, deaths and life expectancy (d) None

4) Which one of the following industries is known as sunrise industry?

(a) lron and steel industry (b) Cotton textile

(c) lnformation technology (d) None

5) In 1999, the world population reached

(a) '1 billion (b) 3 billion (c) 6 billion (d) None

6) Horticulture means

(a) Growing of fruits and vegetables (b) Primitive farming

(c) Growing of wheat (d) None

7) Which one of the following is nota producer of mica?

(a) Jharkhand (b) Karnataka (c) Rajasthan (d) Andhra Pradesh

B) Which one of the following does not make a substance a resource?

(a) Utility (b) Value (c) Quantity (d) None
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9) which one of the following is a leading producer of copper in the world?

(a) Bolivia (b) Ghana (c) Chite (d) Zimbabwe

'10) Leading producer of coffee

(a) Brazil (b) lndia (c) Russia (d) None

11) Biotic resources are

(a) Derived from living things (b) Made by human beings

(c) Derived from non-living things (d) None

12) Silicon Valley is located in

(a) Bangalore (b) California (c) Ahmedabad (d) None

13) Which one of the following is a human-made resource?

(a) Medicines to treat cancer (b) Spring water

(c) Tropicalforests (d) None

'14) Which one of the following methods is most appropriate to check soil erosion on steep

slopes?

(a) Shelter belts (b) Mulching (c) Terrace cultivation (d) None

15) Which one of the following is nota factor of soil formation?

(a) Time (b) Soiltexture (c) Organic matter (d) None

16) Which one of the following is not in favour of the conservation of nature?

(a) Switch off the bulb when not in use (b) Close the tap immediately after using

(c) Dispose polypacks after shopping (d) None
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